DDE DPG2551 (apt. DPG2551)

25 ? Ne ApTUKyn HanmeHoBaHve
1
2 G047.013.00100001 Inywwurens DDE DPG2551
3
4 Bont M8x16
5
6 Bont M6x12
7
8 anka M8
9 bont M6x12
Ne ApTUKyn HanmeHoBaHve
1 1 G047.014.00100001
5 2 12003119 [artuuk Tonnunea
! ; 3 [3251-3900-9005 Mpo6ka 6eHzobaka
4 3251-3900-9006 OuUNbTP TONINBHbBIN
5 7201-9900-0102 LUnaHr TonnueHbI 4x8x145
6
7
8 Bont M6x25
9 12003018 KpaH TonnueHbIN
N2 ApTUKyn HanmeHoBaHve
1
2 Bont M6x12
3 G047.017.00200001 Bubporacutens KOMNEKT NIEBbIN+MNPaBbIN
4
5 G047.017.00200001 Bubporacutens KOMMNEKT NEBbIN+NpaBblii
6

% >
r\A\
L™

DYNAMIC DRIVE EQUIPMENT

DDE DPG2551 (apt. DPG2551)

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 1




DDE DPG2551 (apt. DPG2551)

N2 ApTUKYyn HanmeHoBaHune

1 G047.016.00400001 Kpbiwka DDE DPG2551 3agHsas
2 Bont M5x12

3 G047.016.00200001 Bnok AVR DDE DPG2551 2kW
4 Bont M6x130

5 G047.016.00300001 KpbllwKa 3agHnan

6 0004.00090 Bont M8x180x1

7 G047.016.00101006 AKopb (poTop)

8 G047.016.00102006 Cratop

9 029030700100 LleTKa  WeTKogepxaTenem
10 Bont M5x12

11 Bont M5x12

12

13 Bont M6x12

14

N ApTUKyn HanmeHoBaHune

1 G047.015.00100001 lMaHenb KOHTpOJbHasA

2

3 Bont M6x12

4 G046.006.00200001 Bbikntouatenb

5 1101-0950-V00 BonbTmeTp

6 G047.015.00111001 ATomar 3awmtbl 1¢ 10A

7 029029110160 PoszeTka 220V

Uy 5
S 55
'% 55

DYNAMIC DRIVE EQUIPMENT

DDE DPG2551 (apt. DPG2551)

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 2




